[in:]
o

COMPONENTS LIST
. Item Drawing
1 | Motorcyclist Protection rail E PdP 05/20 02
2 |Terminal E PdP 05/20 07
3 | Corrugated Splice Plate E PdP 05/20 05
4 | Bracket E PdP 05/20 04
5 | End Bracket E PdP 05/20 06
6 |Bolts TT M16x35 class 8.8
A-A 7 |Bolts TTQST M10x30 class 8.8
A 8 |Bolts TE M16x130 class 8.8

9 |Hex Nut M16

o 10 |Flat washer M16

N 11 | Hex Nut M10
12 |Flat washer M10

Drawing Issued
MARGARITELLJ | " ™o me e | ovoro
ROAD SAFETY Review Date

4000 4000 00 R

Object: Road Side Safety Barrier N2BL-02 - Exploded view
Certificate of Costancy of performance CE n°® 0497/CPR/4425
with continuous motorcyclist protection system RiderPro-MRS-04

Proprieta di Margaritelli Ferroviaria SpA - Via Adriatica 109 - 06135 Ponte San Giovanni - Perugia






